BID RESULT FOR PUBLIC BID RM-117118

MISCELLANEOUS CONSTRUCTION MATERIALS

AREA A - SOUTHERN TURNPIKE MILE POST 0.0 TO MILE POST 67.2

ITEM#	Qty	Description	Unit Price	Total
1	10	4" EXPANSION 10 FT JOINT ½ ' 10 PCS PER BUNDLE	\$30.98	\$309.80
2	10	6' EXPANSION JOINT ½ 'X 10 FT 10 PCS PER BUNDLE	\$43.98	\$439.98
3	10	8' EXPANSION JOINT ½ 'X 10 FT 10 PCS PER BUNDLE	\$66.98	\$669.80
4	10	ROLLS OF PLASTIC 6MM 20' X 100 "	\$71.99	\$719.90
5	10	ROLLS OF CAUTION TAPE 1000' IN 3" YELLOW	\$9.99	\$99.90
6	5	ROLLS OF CONCRETE MESH 5 ' X 150 ' 10 GAUGE	\$89.99	\$449.95
7	5	HIGH CHAIRS 3" 100 PCS PER BOX WITH BASE	\$43.99	\$219.95
8	5	HIGH CHAIRS 4" 100 PCS PER BOX WITH BASE	\$43.99	\$219.95
9	1	HIGH CHAIRS 5" 100 PCS PER BOX WITH BASE	\$189.99	\$189.99
10	100	STAKES WITH NAILS HOLES 36" X 3/4 " FOR CONCRETE	\$1.29	\$129.00
		FORMS (STEEL)		
11	1	6" BLOCK REINFORCEMENT, DURWALL- 500" PER BUNDLE	\$169.99	\$169.99
12	5	CONCRETE BLACKETS 6' X 25 '	\$56.99	\$284.95
13	2	TIE TWISTER / REBAR	\$3.99	\$7.98
14	1	ANTI HYDO 5 GALLON CAN	\$69.99	\$69.99
15	5	PORTLAND CEMENT TYPE 2 – 94 LB BAG, 40 BAGS PER	\$439.60	\$2198.00
		PALLET		
16	6	PORTLAND CEMENT TYPE 1 – 94 LB BAG, 40 BAGS PER	\$384	\$2,304.00
		PALLET		
17	5	LIME TYPE S, 50 LB BAG, 50 BAGS PER PALLET	\$475.00	\$2,375.00
18	1	MASONRY CEMENT TYPE S, 50 LB BAG, 40 BAGS PER	\$359.20	\$359.20
		PALLET, HYDRATE MASONRY TYPE		
19	1	8" BLOCK REINFORCEMENT, DURA WALL 500' BUNDLE	\$179.99	\$179.99
20	4	RE-BAR TIES: 6" LOOPED ON BOTH ENDS 5000' PER ROLL	\$74.99	\$299.96
21	50	RE-BAR 5/8" X 20' # 5 REINFORCING BAR-COATED	\$8.19	\$409.50
22	50	RE-BAR ½" X 20' # 4 REINFORCING BAR-COATED	\$5.69	\$284.50
23	6	2' X 8' WIRE LATHE FOR STUCCO 28" BUNDLE OF 10	\$63.99	\$383.94
		SHEETS		
24	24	SPRAY FOAM- TOUCH N FOAM, 1 LB. 4 OZ CAN	\$7.29	\$174.96
25	10	BACKER RODS 1" (PER FOOT) ROLL 600"	\$63.99	\$639.90
26	10	BACKER RODS ½" (PER FOOT) ROLL 2,500'	\$74.99	\$749.90
27	10	MURIATIC ACID (GALLON)	\$6.99	\$69.90
28	10	MASONRY CUT NAILS- 2 ½ ", 1 LB BOX 6 D ONLY	\$3.99	\$39.90
29	10	MASONRY ANCHORS- 3/8" X 3/4" WEDGE 50 / BOX	\$30.98	\$309.80
30	10	ANCHOR STRAPS TA-22, 50 PER BOX	\$74.00	\$740.00
31	10	ANCHOR STRAPS TA-14, 50 PER BOX	\$74.00	\$740.00
32	3	SILICONE CAULK-WHITE, 10 OZ CARTRIDGE BY SIKASIL	\$51.48	\$154.44
		OR APPROVED EQUIVALENT 12 PER BOX		
33	3	SILICONE CAULK-GREY, 10 OZ CARTRIDGE 12 PER BOX	\$51.48	\$154.44
34	1	MASONRY CEMENT TYPE S, 75 LB BAG, 50 BAGS PER	\$449.00	\$449.00
		PALLET, HYDRATE MASONRY TYPE		
35	10	BACKER RODS ½" (PER FOOT) ROLL 1,250'	\$40.99	\$409.90

AREA A – CON'T

ITEM#	Qty	Description	Unit Price	Total
36	2	DIAMOND CONCRETE SAW BLADE, 14" X 1"	\$62.98	\$125.96
37	4	FIBROUS CUT SAW BLADE, 14" X 20 MM	\$177.98	\$711.92
38	3	MAGNESIUM FLOAT, 16" X 3 1/8" #145D	\$27.99	\$83.97
39	2	MASON HOE 7" X 4 ½ " BLADE	\$32.99	\$65.98
40	4	TARP-BLUE POLY 10' X 12'	\$5.99	\$23.96
41	2	WELLINGTON MASON LINE, NYLON TWINE 250 FT. SPOOL	\$5.99	\$11.98
		# 14070 OR APPROVED EQUIVALENT		
42	2	FIBERGLASS TAPE MEASURE 200' X ½" WIDE EM 6820	\$24.99	\$44.98
43	1	CURING COMPOUND 55 GALLON DRUMS BY UNICOR OR	\$639.99	\$639.99
		APPROVED EQUIVALENT		
44	5	LIME BAGS, 50 LB BAG, 50 BAGS PER PALLET	\$449.50	\$2,247.50
45	6	SILICONE CAULK-WHITE, 30 OZ CARTRIDGE BY SIKASIL	\$86.94	\$521.64
		OR APPROVED EQUIVALENT 6 PER BOX		
TOTAL OF LINES 1 THROUGH 45				\$21,885.24

DELIVERY LOCATION FOR SOUTHERN TURNPIKE: SOUTHERN DIVISION 200 MOORESTOWN-MT. LAUREL ROAD MOUNT LAUREL, NJ 08054

THE PERCENTAGE DISCOUNT BOX BELOW WILL NOT BE FACTORED INTO THE DECISION FOR AWARD.

THE AWARD WILL BE DETERMINED BY THE LOWEST RESPONSIVE AND RESPONSIBLE BIDDER FOR

THE LINE ITEMS BID.

PERCENTAGE DISCOUNT

PLEASE LIST A DISCOUNT OFF ANY AND ALL MANUFACTURERS LIST PRICE FOR ANY AND ALL MISCELLANEOUS PARTS NOT LISTED IN THIS BID. THE DISCOUNT WILL BE GIVEN BY THE AWARDED BIDDER TO ANY AND ALL OTHER ITEMS PURCHASED BY THE AUTHORITY UNDER THIS CONTRACT. IF BIDDING ZERO, PLEASE MARK AS SUCH.

_____0___%

EXAMPLE OF PERCENTAGE DISCOUNT BOX ABOVE

PLEASE LIST A DISCOUNT OFF ANY AND ALL MANUFACTURERS LIST PRICE FOR ANY AND ALL MISCELLANEOUS PARTS NOT LISTED IN THIS BID. THE DISCOUNT WILL BE GIVEN BY THE AWARDED BIDDER TO ANY AND ALL OTHER ITEMS PURCHASED BY THE AUTHORITY UNDER THIS CONTRACT. IF BIDDING ZERO, PLEASE MARK AS SUCH.

10 %

AREA B - NORTHERN TURNPIKE MILE POST 67.2 TO MILE POST 122.0

ITEM#	Qty	Description	Unit Price	Total419.80
11 EN1 #	10	4" EXPANSION 10 FT JOINT ½ ' 10 PCS PER BUNDLE	\$28.98	\$289.80
2	10	6' EXPANSION JOINT ½ 'X 10 FT 10 PCS PER BUNDLE	\$41.98	\$419.80
3	10	8' EXPANSION JOINT ½ 'X 10 FT 10 PCS PER BUNDLE	\$59.99	\$599.90
4	10	ROLLS OF PLASTIC 6MM 20' X 100"	\$69.99	\$699.90
5			\$8.99	\$89.90
6	10 5	ROLLS OF CAUTION TAPE 1000' IN 3" YELLOW ROLLS OF CONCRETE MESH 5 ' X 150 ' 10 GAUGE	\$84.99	\$124.95
7	5			· ·
8		HIGH CHAIRS 3" 100 PCS PER BOX WITH BASE	\$39.99	\$199.95
	5	HIGH CHAIRS 4" 100 PCS PER BOX WITH BASE	\$39.99	\$199.95
9	1	HIGH CHAIRS 5" 100 PCS PER BOX WITH BASE	\$189.00	\$189.00
10	100	STAKES WITH NAILS HOLES 36" X 3/4 " FOR CONCRETE FORMS (STEEL)	\$1.19	\$119.00
11	1	6" BLOCK REINFORCEMENT, DURWALL- 500' PER BUNDLE	\$169.99	\$169.99
12	5	CONCRETE BLACKETS 6' X 25 '	\$53.99	\$269.95
13	2	TIE TWISTER / REBAR	\$3.99	\$7.98
14	1	ANTI HYDO 5 GALLON CAN	\$69.99	\$69.99
15	5	PORTLAND CEMENT TYPE 2 – 94 LB BAG, 40 BAGS PER PALLET	\$420.00	\$2,100.00
16	6	PORTLAND CEMENT TYPE 1 – 94 LB BAG, 40 BAGS PER PALLET	\$372.00	\$2,232.00
17	5	LIME TYPE S, 50 LB BAG, 50 BAGS PER PALLET	\$449.50	\$2,247.50
18	1	MASONRY CEMENT TYPE S, 50 LB BAG, 40 BAGS PER	\$359.20	\$359.20
		PALLET, HYDRATE MASONRY TYPE		
19	1	8" BLOCK REINFORCEMENT, DURA WALL 500' BUNDLE	\$179.99	\$179.99
20	4	RE-BAR TIES: 6" LOOPED ON BOTH ENDS 5000' PER ROLL	\$69.99	\$279.96
21	50	RE-BAR 5/8" X 20' # 5 REINFORCING BAR-COATED	\$8.29	\$414.50
22	50	RE-BAR ½" X 20' # 4 REINFORCING BAR-COATED	\$5.39	\$269.50
23	6	2' X 8' WIRE LATHE FOR STUCCO 28" BUNDLE OF 10 SHEETS	\$59.99	\$359.94
24	24	SPRAY FOAM- TOUCH N FOAM, 1 LB. 4 OZ CAN	\$6.99	\$167.76
25	10	BACKER RODS 1" (PER FOOT) ROLL 600"	\$59.99	\$599.90
26	10	BACKER RODS ½" (PER FOOT) ROLL 2,500'	\$69.99	\$699.90
27	10	MURIATIC ACID (GALLON)	\$5.99	\$59.90
28	10	MASONRY CUT NAILS- 2 1/2 ", 1 LB BOX 6 D ONLY	\$3.99	\$39.90
29	10	MASONRY ANCHORS- 3/8" X 3/4" WEDGE 50 / BOX	\$28.98	\$289.80
30	10	ANCHOR STRAPS TA-22, 50 PER BOX	\$69.00	\$690.00
31	10	ANCHOR STRAPS TA-14, 50 PER BOX	\$69.00	\$690.00
32	3	SILICONE CAULK-WHITE, 10 OZ CARTRIDGE BY SIKASIL OR	\$47.88	\$143.64
		APPROVED EQUIVALENT 12 PER BOX		
33	3	SILICONE CAULK-GREY, 10 OZ CARTRIDGE 12 PER BOX	\$47.88	\$143.64
34	1	MASONRY CEMENT TYPE S, 75 LB BAG, 50 BAGS PER PALLET, HYDRATE MASONRY TYPE	\$449.00	\$449.00
35	10	BACKER RODS ½" (PER FOOT) ROLL 1,250'	\$39.99	\$399.90
	10	DITCHER RODS /2 (LERT OOT) ROLL 1,230	ΨЭЭ٠ЭЭ	Ψυννινο

AREA B – CON'T

ITEM#	Qty	Description	Unit	Total
		_	Price	
36	2	DIAMOND CONCRETE SAW BLADE, 14" X 1"	\$59.99	\$119.98
37	4	FIBROUS CUT SAW BLADE, 14" X 20 MM	\$174.99	\$699.96
38	3	MAGNESIUM FLOAT, 16" X 3 1/8" #145D	\$25.99	\$77.97
39	2	MASON HOE 7" X 4 ½ " BLADE	\$29.99	\$59.98
40	4	TARP-BLUE POLY 10' X 12'	\$4.99	\$19.96
41	2	WELLINGTON MASON LINE, NYLON TWINE 250 FT. SPOOL #	\$4.99	\$9.98
		14070 OR APPROVED EQUIVALENT		
42	2	FIBERGLASS TAPE MEASURE 200' X ½" WIDE EM 6820	\$22.99	\$45.98
43	1	CURING COMPOUND 55 GALLON DRUMS BY UNICOR OR	\$599.99	\$599.99
		APPROVED EQUIVALENT		
44	5	LIME BAGS, 50 LB BAG, 50 BAGS PER PALLET	\$449.50	\$2,247.50
45	6	SILICONE CAULK-WHITE, 30 OZ CARTRIDGE BY SIKASIL OR	\$83.94	\$503.64
		APPROVED EQUIVALENT 6 PER BOX		
TOTAL OF LINES 1 THROUGH				
45				\$20,950.93

DELIVERY LOCATION FOR NORTHERN TURNPIKE:

NORTHERN DIVISION 14 PORT STREET NEWARK, NJ 07114

THE PERCENTAGE DISCOUNT BOX BELOW WILL NOT BE FACTORED INTO THE DECISION FOR AWARD.

THE AWARD WILL BE DETERMINED BY THE LOWEST RESPONSIVE AND RESPONSIBLE BIDDER FOR

THE LINE ITEMS BID.

PERCENTAGE DISCOUNT

PLEASE LIST A DISCOUNT OFF ANY AND ALL MANUFACTURERS LIST PRICE FOR ANY AND ALL MISCELLANEOUS PARTS NOT LISTED IN THIS BID. THE DISCOUNT WILL BE GIVEN BY THE AWARDED BIDDER TO ANY AND ALL OTHER ITEMS PURCHASED BY THE AUTHORITY UNDER THIS CONTRACT. IF BIDDING ZERO, PLEASE MARK AS SUCH.

_____0___%

EXAMPLE OF PERCENTAGE DISCOUNT BOX ABOVE

PLEASE LIST A DISCOUNT OFF ANY AND ALL MANUFACTURERS LIST PRICE FOR ANY AND ALL MISCELLANEOUS PARTS NOT LISTED IN THIS BID. THE DISCOUNT WILL BE GIVEN BY THE AWARDED BIDDER TO ANY AND ALL OTHER ITEMS PURCHASED BY THE AUTHORITY UNDER THIS CONTRACT. IF BIDDING ZERO, PLEASE MARK AS SUCH.

10 %

AREA C - SOUTHERN PARKWAY MILE POST 0.0 TO MILEPOST 116.0

ITEM#	Qty	Description	Unit Price	Total
1	10	4" EXPANSION 10 FT JOINT ½ ' 10 PCS PER BUNDLE	\$28.98	\$289.80
2	10	6' EXPANSION JOINT ½ 'X 10 FT 10 PCS PER BUNDLE	\$41.98	\$419.80
3	10	8' EXPANSION JOINT ½ 'X 10 FT 10 PCS PER BUNDLE	\$59.99	\$599.90
4	10	ROLLS OF PLASTIC 6MM 20' X 100 "	\$69.99	\$699.90
5	10	ROLLS OF CAUTION TAPE 1000' IN 3" YELLOW	\$8.99	\$89.90
6	5	ROLLS OF CONCRETE MESH 5 ' X 150 ' 10 GAUGE	\$84.99	\$424.95
7	5	HIGH CHAIRS 3" 100 PCS PER BOX WITH BASE	\$39.99	\$199.95
8	5	HIGH CHAIRS 4" 100 PCS PER BOX WITH BASE	\$39.99	\$199.95
9	1	HIGH CHAIRS 5" 100 PCS PER BOX WITH BASE	\$179.99	\$179.99
10	100	STAKES WITH NAILS HOLES 36" X 3/4 " FOR CONCRETE	\$1.19	\$119.00
10	100	FORMS (STEEL)	ψ1.17	\$117.00
11	1	6" BLOCK REINFORCEMENT, DURWALL- 500' PER BUNDLE	\$159.99	\$159.99
12	5	CONCRETE BLACKETS 6' X 25 '	\$53.99	\$269.95
13	2	TIE TWISTER / REBAR	\$3.99	\$7.98
14	1	ANTI HYDO 5 GALLON CAN	\$69.99	\$69.99
15	5	PORTLAND CEMENT TYPE 2 – 94 LB BAG, 40 BAGS PER	\$420.00	\$2,100.00
		PALLET	7 3 - 3	, , , , , , , , , ,
16	6	PORTLAND CEMENT TYPE 1 – 94 LB BAG, 40 BAGS PER	\$372.00	\$2,232.00
		PALLET		, , , , , , , , , , , , , , , , , , , ,
17	5	LIME TYPE S, 50 LB BAG, 50 BAGS PER PALLET	\$449.50	\$2,247.50
18	1	MASONRY CEMENT TYPE S, 50 LB BAG, 40 BAGS PER	\$359.20	\$359.20
		PALLET, HYDRATE MASONRY TYPE		
19	1	8" BLOCK REINFORCEMENT, DURA WALL 500' BUNDLE	\$169.99	\$169.99
20	4	RE-BAR TIES: 6" LOOPED ON BOTH ENDS 5000' PER ROLL	\$69.99	\$279.96
21	50	RE-BAR 5/8" X 20" # 5 REINFORCING BAR-COATED	\$7.99	\$399.50
22	50	RE-BAR ½" X 20' # 4 REINFORCING BAR-COATED	\$5.39	\$269.50
23	6	2' X 8' WIRE LATHE FOR STUCCO 28" BUNDLE OF 10 SHEETS	\$59.99	\$359.94
24	24	SPRAY FOAM- TOUCH N FOAM, 1 LB. 4 OZ CAN	\$6.99	\$167.76
25	10	BACKER RODS 1" (PER FOOT) ROLL 600"	\$59.99	\$599.90
26	10	BACKER RODS ½" (PER FOOT) ROLL 2,500'	\$69.99	\$699.90
27	10	MURIATIC ACID (GALLON)	\$5.99	\$59.90
28	10	MASONRY CUT NAILS- 2 ½ ", 1 LB BOX 6 D ONLY	\$3.99	\$39.90
29	10	MASONRY ANCHORS- 3/8" X 3/4" WEDGE 50 / BOX	\$28.98	\$289.80
30	10	ANCHOR STRAPS TA-22, 50 PER BOX	\$69.00	\$690.00
31	10	ANCHOR STRAPS TA-14, 50 PER BOX	\$69.00	\$690.00
32	3	SILICONE CAULK-WHITE, 10 OZ CARTRIDGE BY SIKASIL OR	\$47.88	\$143.64
		APPROVED EQUIVALENT 12 PER BOX		
33	3	SILICONE CAULK-GREY, 10 OZ CARTRIDGE 12 PER BOX	\$47.88	\$143.64
34	1	MASONRY CEMENT TYPE S, 75 LB BAG, 50 BAGS PER	\$449.00	\$449.00
		PALLET, HYDRATE MASONRY TYPE		
35	10	BACKER RODS ½" (PER FOOT) ROLL 1,250'	\$37.99	\$379.90

AREA C – CON'T

ITEM#	Qty	Description	Unit Price	Total
36	2	DIAMOND CONCRETE SAW BLADE, 14" X 1"	\$59.99	\$119.98
37	4	FIBROUS CUT SAW BLADE, 14" X 20 MM	\$174.99	\$699.96
38	3	MAGNESIUM FLOAT, 16" X 3 1/8" #145D	\$25.99	\$77.97
39	2	MASON HOE 7" X 4 ½ " BLADE	\$29.99	\$59.98
40	4	TARP-BLUE POLY 10' X 12'	\$4.99	\$19.96
41	2	WELLINGTON MASON LINE, NYLON TWINE 250 FT. SPOOL #	\$4.99	\$9.98
		14070 OR APPROVED EQUIVALENT		
42	2	FIBERGLASS TAPE MEASURE 200' X ½" WIDE EM 6820	\$22.99	\$45.98
43	1	CURING COMPOUND 55 GALLON DRUMS BY UNICOR OR	\$599.99	\$599.99
		APPROVED EQUIVALENT		
44	5	LIME BAGS, 50 LB BAG, 50 BAGS PER PALLET	\$449.50	\$2,247.50
45	6	SILICONE CAULK-WHITE, 30 OZ CARTRIDGE BY SIKASIL OR	\$83.94	\$503.64
		APPROVED EQUIVALENT 6 PER BOX		
TOTAL OF LINES 1 THROUGH 45				\$20,886.92

DELIVERY LOCATION FOR NORTHERN AND SOUTHERN PARKWAY: 116 CRAWFORD CORNER EVERITT ROAD HOLMDEL, NJ 07733

THE PERCENTAGE DISCOUNT BOX BELOW WILL NOT BE FACTORED INTO THE DECISION FOR AWARD.

THE AWARD WILL BE DETERMINED BY THE LOWEST RESPONSIVE AND RESPONSIBLE BIDDER FOR

THE LINE ITEMS BID.

PERCENTAGE DISCOUNT

PLEASE LIST A DISCOUNT OFF ANY AND ALL MANUFACTURERS LIST PRICE FOR ANY AND ALL MISCELLANEOUS PARTS NOT LISTED IN THIS BID. THE DISCOUNT WILL BE GIVEN BY THE AWARDED BIDDER TO ANY AND ALL OTHER ITEMS PURCHASED BY THE AUTHORITY UNDER THIS CONTRACT. IF BIDDING ZERO, PLEASE MARK AS SUCH.

0 %

EXAMPLE OF PERCENTAGE DISCOUNT BOX ABOVE

PLEASE LIST A DISCOUNT OFF ANY AND ALL MANUFACTURERS LIST PRICE FOR ANY AND ALL MISCELLANEOUS PARTS NOT LISTED IN THIS BID. THE DISCOUNT WILL BE GIVEN BY THE AWARDED BIDDER TO ANY AND ALL OTHER ITEMS PURCHASED BY THE AUTHORITY UNDER THIS CONTRACT. IF BIDDING ZERO, PLEASE MARK AS SUCH.

10 %

AREA D - NORTHERN PARKWAY MILEPOST 116.0 TO MILEPOST 172.0

ITEM#	Qty	Description	Unit Price	Total
1	10	4" EXPANSION 10 FT JOINT ½ ' 10 PCS PER BUNDLE	\$28.98	\$289.80
2	10	6' EXPANSION JOINT ½ 'X 10 FT 10 PCS PER BUNDLE	\$41.98	\$419.80
3	10	8' EXPANSION JOINT 1/2 'X 10 FT 10 PCS PER BUNDLE	\$59.99	\$599.90
4	10	ROLLS OF PLASTIC 6MM 20' X 100 "	\$69.99	\$699.90
5	10	ROLLS OF CAUTION TAPE 1000' IN 3" YELLOW	\$8.99	\$89.90
6	5	ROLLS OF CONCRETE MESH 5 ' X 150 ' 10 GAUGE	\$84.99	\$424.95
7	5	HIGH CHAIRS 3" 100 PCS PER BOX WITH BASE	\$39.99	\$199.95
8	5	HIGH CHAIRS 4" 100 PCS PER BOX WITH BASE	\$39.99	\$199.95
9	1	HIGH CHAIRS 5" 100 PCS PER BOX WITH BASE	\$179.99	\$179.99
10	100	STAKES WITH NAILS HOLES 36" X 3/4 " FOR CONCRETE	\$1.19	\$119.00
		FORMS (STEEL)		
11	1	6" BLOCK REINFORCEMENT, DURWALL- 500" PER BUNDLE	\$159.99	\$159.99
12	5	CONCRETE BLACKETS 6' X 25 '	\$53.99	\$269.95
13	2	TIE TWISTER / REBAR	\$3.99	\$7.98
14	1	ANTI HYDO 5 GALLON CAN	\$69.99	\$69.99
15	5	PORTLAND CEMENT TYPE 2 – 94 LB BAG, 40 BAGS PER	\$420.00	\$100.00
		PALLET		
16	6	PORTLAND CEMENT TYPE 1 – 94 LB BAG, 40 BAGS PER	\$372.00	\$2,232.00
		PALLET		
17	5	LIME TYPE S, 50 LB BAG, 50 BAGS PER PALLET	\$449.50	\$2,247.50
18	1	MASONRY CEMENT TYPE S, 50 LB BAG, 40 BAGS PER	\$359.20	\$359.20
		PALLET, HYDRATE MASONRY TYPE		
19	1	8" BLOCK REINFORCEMENT, DURA WALL 500' BUNDLE	\$169.99	\$169.99
20	4	RE-BAR TIES: 6" LOOPED ON BOTH ENDS 5000' PER ROLL	\$69.99	\$279.96
21	50	RE-BAR 5/8" X 20' # 5 REINFORCING BAR-COATED	\$7.99	\$399.50
22	50	RE-BAR ½" X 20' # 4 REINFORCING BAR-COATED	\$5.39	\$269.50
23	6	2' X 8' WIRE LATHE FOR STUCCO 28" BUNDLE OF 10	\$59.99	\$359.94
		SHEETS		
24	24	SPRAY FOAM- TOUCH N FOAM, 1 LB. 4 OZ CAN	\$6.99	\$167.76
25	10	BACKER RODS 1" (PER FOOT) ROLL 600"	\$59.99	\$599.90
26	10	BACKER RODS ½ " (PER FOOT) ROLL 2,500'	\$69.99	\$699.90
27	10	MURIATIC ACID (GALLON)	\$5.99	\$59.90
28	10	MASONRY CUT NAILS- 2 ½ ", 1 LB BOX 6 D ONLY	\$3.99	\$39.90
29	10	MASONRY ANCHORS- 3/8" X 3/4" WEDGE 50 / BOX	\$28.98	\$289.80
30	10	ANCHOR STRAPS TA-22, 50 PER BOX	\$69.00	\$690.00
31	10	ANCHOR STRAPS TA-14, 50 PER BOX	\$69.00	\$690.00
32	3	SILICONE CAULK-WHITE, 10 OZ CARTRIDGE BY SIKASIL	\$47.88	\$143.64
		OR APPROVED EQUIVALENT 12 PER BOX		
33	3	SILICONE CAULK-GREY, 10 OZ CARTRIDGE 12 PER BOX	\$47.88	\$143.64
34	1	MASONRY CEMENT TYPE S, 75 LB BAG, 50 BAGS PER	\$449.00	\$449.00
		PALLET, HYDRATE MASONRY TYPE		
35	10	BACKER RODS ½" (PER FOOT) ROLL 1,250'	\$37.99	\$379.90

AREA D – CON'T

ITEM#	Qty	Description	Unit	Total
			Price	
36	2	DIAMOND CONCRETE SAW BLADE, 14" X 1"	\$59.99	\$119.98
37	4	FIBROUS CUT SAW BLADE, 14" X 20 MM	\$174.99	\$699.96
38	3	MAGNESIUM FLOAT, 16" X 3 1/8" #145D	\$25.99	\$77.97
39	2	MASON HOE 7" X 4 1/2 " BLADE	\$29.99	\$59.98
40	4	TARP-BLUE POLY 10' X 12'	\$4.99	\$19.96
41	2	WELLINGTON MASON LINE, NYLON TWINE 250 FT. SPOOL	\$4.99	\$9.98
		# 14070 OR APPROVED EQUIVALENT		
42	2	FIBERGLASS TAPE MEASURE 200' X ½" WIDE EM 6820	\$22.99	\$45.98
43	1	CURING COMPOUND 55 GALLON DRUMS BY UNICOR OR	\$599.99	\$599.99
		APPROVED EQUIVALENT		
44	5	LIME BAGS, 50 LB BAG, 50 BAGS PER PALLET	\$449.50	\$2,247.50
45	6	SILICONE CAULK-WHITE, 30 OZ CARTRIDGE BY SIKASIL	\$83.94	\$503.64
		OR APPROVED EQUIVALENT 6 PER BOX		
TOTAL OF LINES 1 THROUGH				
45				\$20,886.92

DELIVERY LOCATION FOR NORTHERN AND SOUTHERN PARKWAY: 116 CRAWFORD CORNER EVERITT ROAD HOLMDEL, NJ 07733

THE PERCENTAGE DISCOUNT BOX BELOW WILL NOT BE FACTORED INTO THE DECISION FOR AWARD.

THE AWARD WILL BE DETERMINED BY THE LOWEST RESPONSIVE AND RESPONSIBLE BIDDER FOR

THE LINE ITEMS BID.

PERCENTAGE DISCOUNT

PLEASE LIST A DISCOUNT OFF ANY AND ALL MANUFACTURERS LIST PRICE FOR ANY AND ALL MISCELLANEOUS PARTS NOT LISTED IN THIS BID. THE DISCOUNT WILL BE GIVEN BY THE AWARDED BIDDER TO ANY AND ALL OTHER ITEMS PURCHASED BY THE AUTHORITY UNDER THIS CONTRACT. IF BIDDING ZERO, PLEASE MARK AS SUCH.

_____0___%

EXAMPLE OF PERCENTAGE DISCOUNT BOX ABOVE

PLEASE LIST A DISCOUNT OFF ANY AND ALL MANUFACTURERS LIST PRICE FOR ANY AND ALL MISCELLANEOUS PARTS NOT LISTED IN THIS BID. THE DISCOUNT WILL BE GIVEN BY THE AWARDED BIDDER TO ANY AND ALL OTHER ITEMS PURCHASED BY THE AUTHORITY UNDER THIS CONTRACT. IF BIDDING ZERO, PLEASE MARK AS SUCH.

10 %